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Reasoning and Problem Solving

Here are two calculation cards. Rosie is correct
because 832 is

A=239 1 not a multiple of 11

396 +11=36

832 +1=75r7

Whitney thinks there won't be a
remainder for either calculation because
396 and 832 are both multiples of 11

Rosie disagrees, she has done the written
calculations and says one of them has a
remainder.

Who is correct? Explain your answer.

576 children and 32 adults need
transport for a school trip.
A coach holds 55 people.

We need 10 coache:

Dora

@ We need 11 coaches.

Eva

@ We need 12 coaches.

Alex
Who is correct? Explain how you know.

How many spare seats will there be?

Alexis correct.

There are 608
people altogether,
608 +55="1r3,
50 12 coaches are
needed.

On 12 coaches
there will be 660
seats, because 55
X 12 =660

660 — 608 = 52
spare seats.
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